F4E Taylor FH
TR IX T TR E i 7 R Tl SRR 3 BRI R A X
PUAN B> NS BT, Taylor 5& BRI 2 TR A% O i B

§4.1 REHIRNS
EXA4AT(—MREEEMHR) & f 2 (ab) LRREL, x, e(ab). %
FEAE WA

f(x, +h)— f(x)=4h+o(h)  (h—0),
WIFR £ 7 X, AERT 303, FFPRELR e Ak, BLdx 4 F AR & R 2 bR K
Adx g f 7E x AR EITLSY, 1EAE df (x,) = Adx s 5 f 7E (a,b) I AE— s 4b
HOT gy, WIFR f & (a,b) ARk 2, LR df (X) = A(x)dx &2 (a,b) x
R LA (x,dx) b AR 2 TCRREL.
G 1M T AE kg AR AL f (R x, AT %,
df (x,) = £'(x;)dx.
WE: “ACY” BDE fAE X A TT), B B A TS

f(x, +h)— f(x)=4h+o(h)  (h—0).

XA, lim ”XW?‘ (%) :Ihing(/1+$j=/1, (%) =4,

h—0

df (x,) = Adx = f'(x,)dx.

8 s T X TS, aﬂm(f(xﬁhg‘ T) _ f’(xo)j=0.é\

p(h) = f(x, +h) = f (%)= F'(x)h, We(h)y=0(h) (h—0). T
f(x,+h)—f(x,)= f'(x,)h+o(h) (h—0).
XYL f7E x, AR 3y, IF H df (x,) = f'(x,)dx. O
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MABILAENX Wy = f(X) 75 X 2L A3 120" = (%o, (X)), ¥
A AR PR 3R Oxy V-2 15 258 A A5 3R O'(dx)(dy) . B4, 158 A8 5 &
O'(dx)(dy) &, “HhZky=f(x)” HIEMELE O &by It iff s 1) R 4L
dy = f/(xo)dx WA f 75 x, &b M5

SHMIES BWERE T £ xn]F. i df (x)=f'(x)dx 15 2

F1(x )_df(x) HOBA £1(x) 100 df(x)dz—(x) £7(x) ajjd f(x)

Ty, f(”)(x)ﬁ?ﬂdnfgx)ﬁdn:(x).?ﬂ‘i,—%’?,‘é’unZZHqL,
dx dx dx

ddfﬁx) G 4 T R4 BEA AT 25 X n@,%f'iayq%, £ 30

dzf (n) >

o™

SR A RS, N SR <1 B SO T 2 Bk 2

LA )53 A R A2 0.

WAL 2(WNAHERATM) AP ARy = f(x) M x=p(t) fER
£, M df (p(t)) = F'(@(t)de(t) . KB, A x & 1A R A A A5

#AT df (x) = f/(x)dx.

WARATFIEMTE  U|x— x| R, £~ (X)) + F/(X)(X—X,).

&8 4.1(P,,) 2,4(1,3,5),5(2,4).

93



§4.2 H Peano KINHY Taylor FEIE
EX 4.2 wEREf EEx eni]F. 9

0§ (x
T, (0 = 3= B
k=0 -

FRH K £ 4E %, A n A Taylor 250 ( FRT, (F,05x) 4 f 1%
AN Maclaurin 2 iz0) .
IR 4.1 (AT BIET) AR 7E X, A n [ mT &3, WIAEAEME— 11K
BARKT n 20— f 76 x, B n A Taylor 2T (%, X),
(&S

FOX) =T, (F,%: X) +0((X = %,)") (X—=X,).
FRR (X) = F(X)=T,(f, % X) =0((X—X,)") (X— X,) A Peano 4.

HE: [t L° Hospital yENI, %fn i FHECH AN, H15 3

n (k)
002 )
lim k=0 : =0,
=% (X_ Xo)n
O ROM=TE-T( X 0 =0 X)) (X %,).
B A HOR AT R 1955 P () 2

F(x) =R, () +0((x = X)") (x =X,),

ij P (X)=T,(f,%; X)=0((Xx—X)") (X—= X,).

n

Vo =y Pn(k)(xo) k
HEREIP, (x) = ZT(X — %)< (§3.3, %1 2), %1

k=0
PO (x ) — F 8 (x
Z{ 000~ <o)}(x_xo)k
lim X2 ! - =0,
X—>Xg (X_XO)

ﬁﬁ Pn(k)(xo): f(k)(xo)7 szolll...l n, Elj Pn(X):Tn(f,XO; X). D
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EE Y Peano R Taylor & BEom 8 11 & 78 & x, BT, BREL f (X)
Wi THART, (£, g X) BEARJE T 72 AR (RS LAt 22 7 DA T il 6 e 1 T
IJF 5 R 015 o S .
#ik AR AEx enBral s, Mk =1, n-1, K87
ﬂ“urzﬁmfmwx»”+o«x—%r*)u—»&y
i FOFE x A n—K TS, (T, (F, %0 X)) 48 452 £ 76 x, &b
I n—k /> Taylor 2T (fY,x; X), i
FO0) = (T,(F,%: %)™ +0((x=%)"™*) (x> %,). O
EE 4. 2(FREH TRMEMTES KM WEREE 5 x dbn BT
$,n>2, f'(x,)=f"(x,)=--=F"Y(x,)=0, fW(x,) =0, B4
(1) 25 n BB, 3 H £ O (x,) <0, M F(x) 5 F 97 KB A
(2) 450 SABE IF L™ (x,) >0, W F(x,) & f I K B M
(3) 250 AT W (%) A2 F AOBRAE.

ME: BT f(x)=f(x)+ f(nr)]( 0)(x X,)"+0((x—X%,)") (x=>X,), IS5 >0,

(n)
L) (o 2 5

A3 290 <|x— x| <5 B, f(x)— f(%) 5
(1) F(X)< F(X), VO<|x—%|<3;
(2) f(X)> f(X), VO<|x—%|<5;
(3) (F)=F(x)(F(Y)=F (%)) <0, ¥XE (X5, %), Y€ (X, X+5). [
Taylor FERATIEMBITE  4|x— x| RN, fO)=T,(f,%: x).

B (4 FEA) i{-MW)w%m;

2k—1

= 32 o) (10
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2k

+o(x*") (x> 0);

COSX = kz(;( 1)* 2]

k

In(L+x) = Z( 1)kl +o(x") (x> 0);

n

(1+x)* :Z(ijx" +0(x") (x—0), 1eR;

k=0

2k+1
1t o(x*"?) (x> 0).

arctan x = Z( 1)

iE: F In(L+ x) FT arctan x X 5 F i K.

(1) &In(l+x)= Zakx +0o(x") (x—=0), HEH 4. 1 R (HEE R

—_Zkak Lro(x") (x—0).
1+x 1o

n

oy L= X i(—x)k-l, éﬁz%: (—x) "+ o(x™) . LA R HE A

1+x =

k-1
w1 a, =L T() k=12--n.

2n+2

(2) ¥ arctanx = Za x) +0(x*?) (x> 0), HEHE 4. 1 LIS HESE 3

2n+2 )
=) jax T +o(x*™) (x—=0).
1+ X2 JZ:;‘ :

R R

AP TR e

1+ x?
(- . _
JEMEH a; =12k +1’ J=2+l 0120, 0
0, j=2k+2

%3 4. 2(P,) 2,3

B8R 4. 2(P,,) 1,3
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§4.3 7 Lagrange RIN#FN Cauchy RIN
B Taylor EIE
TEH 4. 3 (Lagrange FEFEIERMET) B 1 & Lla, by, A i X
], x,el . 4 f 21 LEC" %k, JF HAE (a,b) En+1frml &, W
Vxel, W 3ENT x, M x 18], 1§45

£()
(n+1)!

n+1 .

(X_Xo) ’

f(X)=T,(f,%;:X)+

B, vxel Mu=12---,n+1, &b IENT x, M x Z 0], {13

F(x) =Tn(f,Xo:X)+%(X—§)”””(X— Xp)"
unl

(n+1)
FRR (X) = £ ()~ T, (% X) = f(n+ S)(X‘ %)™y Lagrange 4:3i; 7

(n+1)
R,(X)=f(x) =T, (f, % x) = f n(ng) (x= &)™ (x = %,)" Jy Cauchy R
un:
n (k)
iE: {XAIE X, < x il Cauchy RIAMIEIE. o(t) = Z%(x —t)“7El |k

k=0

S, 1E (a, b) ], Jf H

RN ol B 1O PRRIRUIIE ST O PRRVETE L (O Pty
w(t)—kz_; TG ;(k_l)!(x O ===

R B wt)=(X=t)" 7E [X, X] LIEEE, ' 7F (X, X) LAIEAE, H

o(X)-0(%) _ ¢'(€) uy
w()-y(x) w'(&)

Cauchy HEEHLEA, & e (X, X) 115

PN
FO-T(FxgX) X7y g
P - u-1 - (X_é:) ’
(x— %) (- &) — !
.I:(n+1

)
(!95) (X= &)™ (x=x,)". O

un

f(x)=T,(f,%;:X)+
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SEE i Lagrange RIIA Cauchy &I Taylor s BsRAMIZ “AE
HeAS 8 X)L b, BRI F (x) B2 T T, (F, Xos %) ARG BT 7 A2 1 K
ffi7e” , DRI B 75 (0 R TR S ek B0 B vk s ks eR B IR
SRR

#Ei® W R&Lla b/ Al X, x, el 45 f a2 1 ERCT L,
HHAE (@, b) En+ 1Al s, Wvxel filtk=12,---,n, &b IENT x, A
X Z [0], {15

K) () — b, FUPE)
fO(x) = (T, (f,%:X)) +(n+l—k)!(x X, )"

ME: fOJZ ERICT R, 76 (a,b) bntl-k BT &, (T, (f,%: x))®
WU FOLEX AR N —Kk A Taylor 2T, (FY,%,: X), #HHy
Lagrange SR Taylor & BRAN, & IE AT x, Al x Z [0], {145

() () — I A ) IR
O (x) = (T, (f,%3%)) +(n+1—k)!(x )" O

IR BV f R R ICT BRI R A IMT, () = 1 (x).

B, f(x)=1€ " X=0: R F{C” 3L, [0 Maclaurin £ I
0, x=0

T (f,0;x)1E4 0, @Iann(f,O;x):O;«t f(x).
511 FIFH Lagrange 22T Taylor &3, 255 iR s %k £ 76 FF X [A]
(a,b) BRI ABEH 7> 0733,
fi#: Vx,x,e(ab), x.<x,1€(0,1), it x,= (L-A)X+1x,, WH

FO) 2 FO6)+ TG = %), F(%) 2 F(%)+ (%)X, = %)
I (@L=A) F) 2 (= A) F(x) + (1= 2) F /(%) (%, — %) »

AT(X) 2 AT (%) + AT (%) (X, —X,)-
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LSS EEE
(1—ﬂ)f(x)4nlf(x)__f(x)+—fo)K1—l)x+ﬂx —x,]= f(x,). O
Bl 2(EIR 4.4) FHHEH T E[ab] 3ELL, #(ab) L 2 Mrar g, m

Vxe(ab), BIE(X) e (a,b) fif

[w(x a)+f(a)} f(x):(x—a)(b—x) F(£(x)) -

(T DR A4 £ >0 e £ 2 YR B0
ME: FIHHT Lagrange A3 Taylor &2, WA

f(a)— f(x)= f’(x)(a—x)+@(a—x)2,a<¢§1(x)< X,
f(b)- f(x)= f’(x)(b—x)+m(b—x)2, x<&,(x)<b.

e [W(x a)+ f(a)}— f(x)
_ - F)-(F@= TN (v, @)= f(x)

b-a

b—x X—a
{mj(f(a)—f(x»{b_a

G qvmm>¢{bxy“ﬁmu a)?

)(f(b)— f(x))

b—a b—
x—a ) f"(5(x))
u jfum m%b_) (b—x)?
R | e [T e LS

VE R [1—%}”(51(@) [E:XJf"(fz(X))ﬁ? (& 00) 1 £7(&,(x)

2 18], T 5 R B AR BRAE S, 3E(X) e [E(X), &, (x)] 15
Fe0) = 12X a0+ R | (600 O

B3R 4.3(P,,) 3(2,4,6),5,6.

B)&% 4.3(P,,) 1,2,3,4,7.
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